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LESSON 7.2

GOAL

Use the Converse of the Pythagorean Theorem to determine if a triangle is a right triangle.

Vocabulary

Theorem 7.2 Converse of the Pythagorean Theorem: If the square of the length of the length of the longest side of a triangle is equal to the sum of the squares of the lengths of the other two sides, then the triangle is a right triangle.

Theorem 7.3 If the square of the length of the longest sides of a triangle is less than the sum of the squares of the lengths of the other two sides, then the triangle is an acute triangle.

Theorem 7.4: If the square of the length of the longest side of a triangle is greater than the sum of the square of the lengths of the other two sides, then the triangle is an obtuse triangle.
Tell whether a triangle with the given side lengths is a right triangle.  SHOW ALL WORK!
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Tell whether segments with the given side lengths can form a triangle. If so, classify the triangle as acute, right, or obtuse.  SHOW ALL WORK!
4. 10.5, 36, 37.5
5. 8, 21, 27
6. 18, 23, 25.2
7. 30, 40, 60
8. 12.3, 15.2, 23.5
9. 20, 37.5, 42.5











































